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x 7 L 4 S650 S750 S770 S850
O P
T SR ANVII~ | A3P211~ | A3PA1l~ | ATF4ll~
X5 BT BAEA (G B i # b e fitt
EN 2 BVl 51
NATARY T min | 2520~2650 | 2520~2650 | 2520~2650 | 2520~2650
=74 RY 7 min™ | 1250~1450 | 1250~1400 | 1250~1400 | 1250~ 1400
(W #K IR (C) (50+10) (50+10) (50+10) (50+10)
(fF # W 1&) (C) (50+10) (50=+10) (50+10) (50=+10)
- OB R
RS B mm 0.13~0. 17 | 0.23~0.27 | 0.23~0.27 | 0.23~0. 27
v P B mm 0.13~0.17 | 0.23~0.27 | 0.23~0.27 | 0.23~0. 27
Gl & S 1) 5 [ AL 4 [ L
v FEREE A 3% KPa 3.9 3.5 3.5 3.5
SR EAEE 7 kg/cm? 39.8 35.7 35.7 35.7
v " # K R) (C) B % IR % B % IR %
(7] iz 58 fE) (min™) | 200~300 | 200~300 | 200~300 | 200~300
PR B | S v o KPa |18.6~19.6 | 18.6~19.6 | 18.6~19.6 | 18.6~19.6
PRERE S BR AT ) kg/cm | 1900~200 | 1900~200 | 1900~200 | 1900~200
WA B Ty UL ORRY mm - — - —
L2 )] Tkg] — - - -
S A YZERIE| 7 ay RRA—b KPa 412 412 412 552
kg/cm? 4.2 4.2 4.2 5.6

i YA —L KPa 412 412 412 552

17 kg/cm’ 4.2 4.2 4.2 5.6

g | IRA =Ty Tay bR A —L Nem | 190~217 | 190~217 | 190~217 | 434~474

= ]‘?‘U*/”‘ kgem | 19.4~22.1(19.4~22.1|19.4~22.1 | 44.3~48.3

| ofEHT R v
s Uik —v Nem | 190~217 | 190~217 | 190~217 | 434~474
kgem | 19.4~22.1(19.4~22.1 | 19.4~22.1 | 44. 3~48.3
| v B v |EESmOES Hiﬁ - - - -
i

Zi ziﬁ‘@% A UIRY f4 1 i - - - -

B NI=2F7T7 | VY =78y bE KPa — — — —
vk kg/cm? — — — —
T 7 L —F | NN OB mm - - - -

i e mm — — — —

&) B AE 7] mIAN 5 5 5 5

” Ll By 3k ] km/h (8.5) (8.5) (8.5) (8.5)

& Bl 7 L— 3 | {5 1L AT REARD 1/5 1/5 1/5 1/5
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[N mm — — —
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FZ 4
Bl
AT qEs) | TA=v I OES mm - — —
>
Nid Ny 77— MEHT | Nem — - -
B | 24 kg-m
Es - -
T A AT DEE mm - - -
| [TAR7 (v rvarTL—1)
TL—%
(R |t RORS mn - - -
(6 )
[ g
g|5720, | kosrsr=2y | m - - -
1 qmsty | et
1 2424 |y roms - - . _
RICES)
V) H =D T =L mm/min 50/15 50/15 50/15 50/15
B8R T | [Ny b~ofafif] | 8] (] ] (] [
RGEVRERY (C) (6010 (60£10) (60 10) (60=+10)
e Ny mm/min 10/15 40/15 10/15 40/15
[Ny b~offF] | ] (A1 [f] [f] [f]
. [fE B i &) (‘C) (60=+10) (60+10) (60+10) (60=+10)
* VB 2 B 38 E | 7 — o RS sec 3.9 3.9 3.3 5.7
[Ny b~offF] | ] (4] (4] (4] (4]
e [fF B &) (©) (50+10) (50+10) (50=10) (50+10)
- Ny ML sec 2.3 2.3 2.4 2.8
[Ny b~offg] | ) (4] (4] (4] (4]
@ [1F #) o 5 (©) (50=+10) (50+10) (50+10) (50+10)
Ny Mg sec 1.7 1.7 1.9 2.3
[ b ~D ] [ 1] [4] [4] (4] [ 4]
[fF B &) (C) (50+10) (50+10) (50+10) (50+10)
M JE B | R KPa 24132 24476 24476 24476
i’é kg/cn’? 241 245 245 245
i [fF ® i iR (C) (50+10) (50+10) (50+10) (50+10)
i
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